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Directions (1-10): &A1& g2=it & gesTaras fdeg (?7) & TATT 9T T AT 31T AT U-
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Q2. If\27 = 64

(a) 8

(b) 10

(c) 12

(d) 16

(e) 14
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11ix4l 9-922
Q3- e 10 3

(a) 2.4
(b) 4.2
(c) 2.6
(d)2.8
(e) 3.2
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Q4. (1.06 +0.04)*~7= 4 X 1.06 X 0.04

(a) 1.04

(b)1.4

(c)1.5

(d) Can’t be determined
(e)1.0404
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Q5. [(140)% +70 x 16] + 8 = 14 x ?

(a) 38

(b) 22

(c) 55

(d) 40

(e) 36
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Q6.2151.46 + 5437.54 - 6795 =7
(a) 974

(b) 794

(c) 796

(d) 790

(e) 792
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2 of 215+ 20f 128 - 20f 147 =7
5 4 T

(a) 94

(b) 96

(c)98

(d)9z

(e) 100

L1Difficulty 2
QTagsSimplification
QCreatorDeepak Rohilla

Q8.56% of 700 + 64% of 900 - 40% of 290 =7



(a) 848

(b) 852

(c) 850

(d) 854

(e) 846
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Q9.7777 +11+888+6=7
(a) 855

(b) 857

(c) 853

(d) 850

(e) 852
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Q10 31331 x%% of 14300 =?

(a) 426

(b) 427

(c) 431

(d) 429

(e) 432
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Directions (11-15): fAFafaf@a geat # & GHoT 1 3R 11 fgT 710 §1 gt TRl i
gl Y 3R 3R §fSe-

L 2x*—13x+21=0

1. 2y*— 9y + 10 =0
Q11. =2y

(@I x>y
(b)IfEx<y
(afEx=y
(@ IEx<y

(e) x =y T x 3R y o ST AT TATAT IgT TohaT ST vl &
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.3x*—14x+15=0
L2y—9y +9=
012 1. 2y*-9y +9=0

(@I x>y
(b) AR x<y
(afgx2y
(d)IEx<y

(e)x =y ATx 3R y & o Taer TATAT AGT fohaT ST TehelT ©
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.x2—-32=112
o3 1Ly —V169 =0
(@) 3R x>y
) I x>y
(3fgx<y
(@IEx<y

(e) TfE x = y a1 Tay Tfa AT fohar ST Tehar
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Lx—v121=0
qia ILy? =121 =0
(@I x>y
(b) T x>y
() afx <y
(@afxs<y
(e) T x = y AT HAY T T8l [haAT ST bl
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. 2x?+5x+3=0
q1s, 11 8y°+27=0
(@I x>y
(b) I x>y
(@ 3fgx<y
(dIEx<y

(e) TS x = y IT T TATTAT =181 fohdT T Tohll &
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Solutions
S1. Ans.(a)
1+—++ (—2)*
(64)z
=17=
8
Sol.
S2. Ans.(c)
V27 = 64,27 = 64 X 64 = 212
7=12
Sol.
S3. Ans.(a)
34 48
240 =27,7=24
Sol. 3
S4. Ans.(e)
(1.1)*> — (4.24 x 0.04) =7
= 7=1.0404
Sol.
S5. Ans.(d)
9 (280x16)+8 _ , .

Sol. 14



S6. Ans.(b)
Sol.
?7=794

S7. Ans.(c)
Sol.
?7=86+96-84=98

S8. Ans.(b)

Sol.
?7=56x7+64%x9-4x29
=852

S9. Ans.(a)
Sol.

?7=707 + 148
=855

S10. Ans.(d)

3
7=11 me 14300 = 429
Sol.

S11. Ans. (a)
. 2x*—13x+21=0
= 2P —Bx—Tx+21=0
= («-3)(2x—-7)=0
= x=3,§
I. 2y*—9y+10=0
= 2y?—4y—5y+10=0
= (y—=2)(2y-5)=0
= '5.r=2,§
x>y

Sol.

S12. Ans. (e)



. 3x*—14x+15=0
= 3x*—9x—5x+15=0
= (x=3) (3%=5)=0

= x=3,§

Il 2y2—9y+9=0

= 2y*—6y—3y+9=0
= (y=3) (2y-3)=0

-2 3
= 15'r - 3: 3
Sol. Mo relation
S13. Ans.(c)

(N x*—32=112
= x? =112 + 32
=x=112

() y =169
=vyv=13

=X
sol. 7

S14. Ans.(b)
(x—+121=0
= x =4121
=x =11
(I y*—121=0
=y =121
=y =411

LX 2V
Sol.

$15. Ans. (b)

.2x>+5x+3=0
2x7+2x43x+3=0
(x+1) (2x+3)=0






